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1. COMMON FRACTIONS

1.1. Ordering and comparing fractions:

To compare fractions, the total number of parts should be the same: The total number of parts is represented by the denominator, and the numerator represents the part we have. e.g.:  . 

· Fractions can only be compared properly if their denominators are the same
. 
· To compare halves and quarters, convert all to quarters because the LCM of 2 and 4 is 4.

· To compare halves, quarters and eighths, convert all to eighths because the LCM of 2, 4 and 8 is 8.
· To compare tenths, hundredths and thousandths, convert all to thousandths because the LCM of 10,100 and 1000 is 1000.

· Fractions with the same denominator are in:
- ascending order if their numerators are in ascending order
- descending order if their numerators are in descending order.

· Using EQUIVALENT fractions helps to make fractions the same.
Example:
Complete the following by making the fractions equal (Equivalent fractions).
a)  =a)   = 
b) =
c) =
 

b)  =                                                   
c)  =

[bookmark: _Hlk45611530]    and  are equivalent fractions.












1.1.1. Copy this table and complete it.
                        
	Tenths and hundredths in words
	Hundredths in words
	Tenths and hundredths in fractional notation
	Two equivalent fractions
	Decimal fractions
	%

	3 tenths and 2 hundredths
	32 hundredths
	
	
	0,32
	32%

	
	
	
	
	
	75%

	
	
	
	
	0,45
	

	
	6 hundredths
	
	
	
	

	
	
	
	
	0,60
	

	
	
	
	
	
	



NB:  = 32%
  = 45%
If the denominator is 100, the numerator is the percentage.

1.1.2. Arrange in ascending order (from smallest to biggest).

a.  ;   ;  0,5; 40%;   ;  72%;   ;  0,07
______________________________________________________________________________________________________________________________________

b. 2 +  +  ;  1 +  +  ;  2 +  +  ;  1 + 
______________________________________________________________________________________________________________________________________
1.1.3. What part of the circle below is red? 
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common fraction and percentage: ________________________________________
common fraction in its simplified form _____________________________________
percentage __________________________________________________________
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common fraction and percentage: ________________________________________
common fraction in its simplified form _____________________________________
percentage __________________________________________________________                   

1.1.4. Use the example below to rewrite the following:	
Example:  32 hundredths =   =  + 
a. 58 hundredths 
______________________________________________________________
b. 457 hundredths
______________________________________________________________
c. 140 hundredths
______________________________________________________________
d. 375 hundredths
______________________________________________________________
e. 1 405 tenths
______________________________________________________________

1.1.5. Order the following from the smallest to the biggest:
a.  ;   ;   ;   ;  
______________________________________________________________________

b.     ;   ;   ;  73%;  
______________________________________________________________________


1.1.6. Use the symbols =, > or < to make the following true:
a.    •    ________________________________________________________________

b.    •    ________________________________________________________________


c.    •    _______________________________________________________________

1.2. Addition and subtraction of fractions: 

Two fractions may describe the same length. You can see here that three sixths of a red-stick are the same as four eighths of a blue-stick. When two fractions describe the same portion, we say they are equivalent.

	
	
	
	
	
	
	
	



	




	
	
	
	
	
	


      
    

But             

And          =        = 1
Gertie was also asked the question: How much is 4  +  2 ?  She thought like this to answer it:
4   is 4 wholes and 5 ninths, and 2  is 2 wholes and 7 ninths. So altogether it is 6 wholes and 12 ninths. But 12 ninths are 9 ninths (1 whole) and 3 ninths, so I can say it is 7 wholes and 3 ninths.
I can write 7 . Would Gertie be wrong if she said her answer was 7?

	
	
	
	



	
	
	
	
	
	
	
	



Since    =  

So:    +    =    x    +    
      
                   =      +    

                   =   

                   = 1  





1.2.1. Calculate each of the following:
a. 3  +    
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
b. 3  +  1  
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

c. 4  -  2  
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

d. 6  +  2  -    
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
    

1.3. Multiplication of common fractions:
The rectangle below is divided into 40 smaller rectangles.    of the smaller rectangles are red.
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


	
We know for a fact that   of R40 is R20. The question is how do you work this out 
  x    =    = R20
What about     of   .  The shaded part below is    of the entire rectangle.
	


	
	
	






We also know that    is equivalent to   .  So   of    can be represented as follows
	                                                                          

	
	
	

	

	
	
	


	

	
	
	

	

	
	
	



And so    of    =   
Worked out differently:
  of    =    x    
             =  
         =  

1.3.1. Calculate:
a.   of 60
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


b.   of 30
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

c. 1  x  2
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

d. 8  x  3
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

e. (  +  ) x  
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
f. During a fundraiser Luvo made phone calls and got a voicemail message on    of her phone calls. Louise got a voice mail message on    of her phone calls. They had to call 40 sponsors. Indicate the number of sponsors that did answer their phones.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
g. John normally practices soccer for three quarters of an hour every day. Today he practiced for only half his usual time. How long did he practice today?
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
h. In this multiplication magic- square the product of the three numbers in each row, in each column and in each diagonal, is 1. What is the value of r + s?
                           
	   P

	   q
	   r

	   S

	   1
	   t

	   U
	   4

	   



i. A water tank is  full. After 420 litres had been drawn from it, it is half full. How many litres does the tank hold when it is full? ________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


2.  DECIMAL FRACTIONS

A different notation for fractions
You can write the number 2  as 2,3 and the number 1  as 1,5.
a.  If 2   is written as 2,3, why do you think 1   is written as 1,5? Discuss this with one or two of your classmates. 2   and 2,3 are two different notations for the same number. 2,3 is the decimal notation.    has no whole number part and so it is written as 0,3. A comma separates the whole number part from the fraction. The first position after the comma indicates the number of tenths in the number. The second position is for the hundredths.
b. Write the length of each of these strips in fraction notation and in decimal notation. Measure in Yellow-sticks. This is one Yellow-stick:
                       [image: ]
                        [image: ]
                                   [image: ]

· 0,1 is another way to write   and 0,01 is another way to write  . 0,1 and   are different notations for the same number.   is called the (common) fraction notation and 0,1 is called the decimal notation.
· NB: 2,53 should be read as two comma five three and not as two comma fifty-three.
2 represents the units, 5 represents the tenths and 3 represents the hundredths.

2.1. Ordering decimal fractions:
a. Order the following numbers from biggest to smallest. Explain your method:
0,8; 0,05; 0,508 ;  0,15 ;  0,461 ;  0,55 ;  0,75 ;  0,4 ;  0,6
Below are the results of some of the 2012 London Olympic events. In each case, order
              them from first to last place. Use the column provided. 

b. Women: Long jump – Final
   
	Name 
	Country
	Distance
	Position

	Anna Nazarova
	Russia
	6,77m
	

	Brittney Reese
	USA
	7,12m
	

	Elena Sokolova
	Russia
	7,07m
	

	Ineta Radevica
	Latvia
	6,88m
	

	Janay DeLoach
	USA
	6,89m
	3rd

	Lyudmila Kolchanova
	Russia
	6,76m
	



c. Men: 110 m hurdles – Final
	Name 
	Country
	Distance
	Position

	Aries Merritt 
	USA
	12,92 s
	

	Hansle Parchment  
	JAMAICA
	13,12 s
	

	Jason Richardson  
	USA
	13,04 s
	

	Lawrence Clarke  
	GREAT BRITAIN
	13,39 s
	

	Orlando Ortega  
	CUBA
	13,43 s
	

	Ryan Brathwaite 
	BAR
	13,40 s
	





2.2. Comparing decimal fractions:

Replace * with <, > or =
a. 0,4 * 0,32
b. 2,61 * 2,7
c. 2,4 * 2,40
d. 2,34 * 2,564

2.3. Place value of decimal fractions:
Write the value (in decimal fractions) and the place value of each of the underlined digits.
a. 2,345
________________________________________________________________________________________________________________________________

b. 4,678
________________________________________________________________________________________________________________________________

2.4. Rounding off:
2.4.1. Round each of the following numbers off to the nearest whole number:
a. 7,6 
________________________________________________________________
b. 18,3 
________________________________________________________________
c. 204,5 
________________________________________________________________
d. 1,89 
________________________________________________________________
e. 0,942
________________________________________________________________

2.4.2.  Round each of the following numbers off to one decimal place:
a. 7,68 _________________________________________________________________

b. 18,93_________________________________________________________________

c.  21,475 _______________________________________________________________

d. 1,448 _________________________________________________________________

e. 3,816__________________________________________________________________

2.5. Addition and subtraction of decimal fractions:

2.5.1. Calculate:
a. 143, 694 + 208, 943 
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
b. 416, 158 + 91, 86
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
c. 17,857 – 11,642
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
d. 398, 574 ─ 149, 586
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

e. In a surfing competition five judges give each contestant a mark out of 10. The highest and the lowest marks are ignored and the other three marks are totaled. Work out each contestant’s score and place the contestants in order from first to last. Complete the table below 
	Competitor
	                    Judges’ score
	Total of the three scores
	Place

	John
	7,5
	8
	7
	8,5
	7,7
	
	

	Macy
	8,5
	8,5
	9,1
	8,9
	8,7
	
	

	Unathi
	7,9
	8,1
	8,1
	7,8
	7,8
	
	

	Thando
	8,9
	8,7
	9
	9,3
	9,1
	
	




2.6. Multiplication:

2.6.1. Complete the multiplication table (use a calculator).

	    X
	1 000
	   100
	   10
	    1
	   0,1
	   0,01
	  0,001

	    6
	
	
	
	
	
	
	

	   6,4
	
	
	
	
	
	
	

	   0,5
	
	
	
	
	
	
	

	   4,78
	
	
	
	
	
	
	

	  41,2
	
	
	
	
	
	
	



Is it correct to say that “multiplication makes bigger”? When does multiplication make bigger?
Formulate rules for multiplying with 10; 100; 1 000; 0,1; 0,01 and 0,001. Can you explain the rules?
2.6.2. Now use your rules to calculate each of the following: 
a. 0,5 × 10 
__________________________________________________________________________________________________________________________________________________________________________________________________________________
b. 0,3 × 100 
__________________________________________________________________________________________________________________________________________________________________________________________________________________
c. 0,42 × 10 
__________________________________________________________________________________________________________________________________________________________________________________________________________________
d. 0,675 × 100
__________________________________________________________________________________________________________________________________________________________________________________________________________________

Mandla uses this method to multiply decimals with decimals:
              0,5 x 0,01 = (5 ÷ 10) x (1 ÷ 100)
                                = (5 x 1) ÷ (10 x 100)
                                = 5 ÷ 1 000
                                = 0,005
2.6.3. Compare Mandla’s answer to the one on the table where you used a calculator. Then use Mandla’s method to check other examples on the table.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

2.7. Division:
Complete the division table (use a calculator)

	    ÷
	1 000
	   100
	   10
	    1
	   0,1
	   0,01
	  0,001

	    6
	
	
	
	    6
	
	
	

	   6,4
	
	
	
	
	
	
	

	   0,5
	
	
	
	
	
	
	

	   4,78
	
	
	
	
	
	
	

	  41,2
	
	
	
	
	
	
	

	  40,682
	
	
	
	
	
	
	


Is it correct to say that “division makes smaller”? When does division make smaller?
Formulate rules for dividing with 10; 100; 1 000; 0,1; 0,01 and 0,001. Can you explain the rules?

2.7.1. Now use your rules to calculate each of the following:
a. 0,5 ÷ 10 
__________________________________________________________________________________________________________________________________________________________________________________________________________________
b. 0,3 ÷ 100 
__________________________________________________________________________________________________________________________________________________________________________________________________________________
c. 0,42 ÷ 10
__________________________________________________________________________________________________________________________________________________________________________________________________________________

2.7.2. Complete the following:

a. Multiplying with 0,1 is the same as dividing by _________________________________

b. Dividing by 0,1 is the same as multiplying by __________________________________

c. Now discuss it with a partner or explain to him or her why this is so.

A real-life example:
              4 x 2,5kg = 4 x 
           
                               =  kg
                               = 10kg
This means for a mother comparing at a shop that four 2,5kg’s of sugar is the same as 10kg of sugar, so if the prices are different, then she would take the cheapest whilst having received the same quantity.

Look carefully at the following three methods of calculation used by Bongi:
a. 0,6 ÷ 2 = 0,3 [6 tenths ÷ 2 = 3 tenths]

b. 12,4 ÷ 4 = 3,1 [(12 units + 4 tenths) ÷ 4]
               = (12 units ÷ 4) + (4 tenths ÷ 4)
               = 3 units + 1 tenth
               = 3,1

c. 2,8 ÷ 5 = 28 tenths ÷ 5
             = 25 tenths ÷ 5 and 3 tenths ÷ 5
             = 5 tenths and (3 tenths ÷ 5) [3 tenths cannot be divided by 5]
             = 5 tenths and (30 hundredths ÷ 5) [3 tenths = 30 hundredths]
             = 5 tenths and 6 hundredths
             = 0,56

2.7.3. Use the number line below to answer the questions that follow:

[image: ]

a. How many 0,2 in 1?
______________________________________________________________________
b. How many 0,4 in 2?
______________________________________________________________________
c. How many 0,5 in 2?
______________________________________________________________________
d. How many 0,6 in 3?
______________________________________________________________________
Example:
0,4 x 5 = 4 tenths x 5
             = 20 tenths
             = 2
Liz was taught by her friend the three methods of calculation by Bongi. She decided to see for herself if they work by working out this challenge. 4,78 ÷ 10
4,78 ÷ 10 = 478 hundredths ÷ 10
                 = 470 hundredths ÷ 10 and 8 hundredths ÷ 10
                 = 47 hundredths and 80 thousandths ÷ 10
                 = 47 hundredths and 8 thousandths
                 = 0,478
Compare Liz’s answer to the one on the table where you used a calculator. Then use Liz’s method to check other examples on the table.


3. INTEGERS

We have been dealing with these numbers: . What about numbers smaller than 0. These numbers are called negative numbers. Numbers should not only serve the purpose of counting and measuring, but should serve other purposes. Hence negative numbers are there. Integers are in essence, a combination of whole numbers and negative numbers.
                                                                            
It is important to highlight that the spaces between the numbers on a number line must be equal; the positive and negative numbers are equidistant from zero but have opposite signs e.g. if a point is on positive 3 (positive denoted as on the number line from zero, then negative (denoted as) is also 3 units from zero but in the opposite direction (. Zero is neutral, it is neither  nor. It is called the origin because that is where movement starts. The following number line represents integers:

[image: http://www.mathgoodies.com/lessons/vol5/images/no_line_intro.gif]
a) Have you ever watched weather focus on television?
b) What happens when the temperature increases?
c) What happens when the temperature decreases?
d) Which temperature reading do you think is colder between 4°C and 2°C?

Note: All negative numbers are smaller than zero and the further away a negative number is from zero, the smaller it becomes i.e.  6 is smaller than 5;4;3; 2; 1 and 0 but greater than 7; 8 and 9. This is evident in weather focus. If the temperature is 4, it is much colder than it would be if it is 0. All positive numbers are greater than zero. When we represent integers on a horizontal number line, we always have zero separating the positive and the negative numbers where the positive numbers are on the right and negative numbers on the left in relation to zero.

One of the uses of integers is for the measurement of temperature. If we say that the temperature is 0 when water freezes to become ice, we need numbers smaller than 0 to describe the temperature when it gets even colder than when water freezes. When water starts boiling, its temperature is 100 degrees on the scale called the Celsius scale. The instrument used to measure temperature is called a thermometer.
· This is what a thermometer will show when it is put in water that is boiling. It shows a temperature of 100 degrees Celsius, which is written as 100 °C.
                                   
                  [image: ]

· On the diagram below, you can see what a thermometer will show if it is in water that is starting to freeze. It shows a temperature of 0 °C.
                                                                        
               [image: ]                        

· On the next diagram you can see what a thermometer will show when the temperature is −40 °C, which is colder than any winter night you may have experienced.

                     [image: ]


                                       [image: Negative and positive numbers on a vertical number line]
                                       [image: Negative and positive numbers on a vertical number line]   
                                 [image: Negative and positive numbers on a vertical number line]

If there is no sign written in front of a number, the number is positive e.g. 8 is the same as 8, as it is shown on the thermometer and the number line above.
Provide learners with a worksheet on classifying examples of real life situations as negative or positive 

	Situation 
	Positive
	Negative 

	Positive charged electricity
	
	

	Temperature below zero
	
	

	Below sea level
	
	

	Earning money
	
	

	Having debt
	
	

	Floors above ground level
	
	

	Win 
	
	

	Loss or decrease
	
	

	Deposit 
	
	

	Down 
	
	


    
3.1. Counting integers:

Complete the following:
 (a) 
 (b) 
 (c) 

3.2. Ordering integers:
On a certain day the following minimum temperatures were provided by the weather bureau:
Bethlehem −4 °C                             Bloemfontein −6 °C
Cape Town 7 °C                               Dordrecht −9 °C
Durban 12 °C                                   Johannesburg 0 °C
Pretoria 4 °C                                    Queenstown −1 °C

Arrange the temperatures from the coldest to the warmest.
______________________________________________________________________

3.3. Comparing integers:
             
 Insert one of the symbols > or < to indicate which number is the smallest of the two.
             (a) 978 543      *      978 534                                
              (b) −1 043 724    *    −1 034 724
             (c) −864 026     *   −864 169                                
             (d) −103 232     *      −104 326
             (e) −710 742     *     710 741                              
             (f) −904 700     *       −904 704

3.4. Adding integers: using counters
       Use different coded counters to indicate “+” and “–” signs  -
+

        
                                                                                              
              We add when there are positive signs and take away when there are negative signs
              When we add, all the minus and plus signs cancel out, leaving the remaining sign as the answer:
                                                                         -
-
-
+
+
+
+

                                  

              Example 1:  -5 + (-2) = …
               -
-
-
-
-
-
-
We now have a total of 7 negative counters. 
So, -5 + (-2) = -7



             

                                                                                                        
                   Example 2: -3 + 2 = …

                                                                                                                                                                                                           -
-
-
+
+
Since the positives and the negatives cancel out, we are left with 1 negative counter.
 So, -3 + 2 = -1

        

                                                              +                                            
                                                                                                                    



            Example 3: 4 + (-2) = …
+
+
+
+
-
-
Since the positives and negatives cancel out, we are left with 2 positives. So, 4 + (-2) = 2
            



                                                                            
                                                 +                         .
                                                                            
        



3.5. Subtracting integers: using counters
 	
When subtracting, remember that an equal number of signs add up to zero. So:  + + + - - - = 0
             
 In other words when we add positive signs, we must also add an equal number of negative signs.Thus, we haven’t added anything of value.  

              Example 1: -3 – (-2) = …


-
-
-
-
-
-

                                                                                                      =      Take away

              

                   
This means 3 negatives take away 2 negatives equals 1 negative
                    -3 – (-2) = -1 
              
 This worked well. Why? Because the first number is bigger than the second (if we don’t take 
               the signs into account).
 But what if the first number is smaller than the second number (if we do not take the signs in 
              front of them into account)?
              Example 2: -1 – (-4) = …
+
+
+
-
-
-
-
-
-
-
+
+
+
-

                               +                                               take away                                                          =  
                = 0 meaning you have added nothing


                                                                                                                  
You had 1 negative and had to add 3 negatives since you wanted to take away 4 negatives.  But you have to immediately add 3 positives so that you are able to say I’ve added nothing of value as the negatives and positives cancel out.   Now you are able to take away 4 negatives and you will be left with 3 positives.
            So -1 – (-4) = +3
           Example 3: -3 – (+2) = …

-
-
-
-
-
+
+
+
+
-
-
-
-
-

                                                         +                                 take away                                 =  





            
What actually happened here? You had 3 negatives and wanted to take away 2 positives you did not have. So, you added 2 positives and immediately 2 negative to cancel out the 2 positives. Now you can take away the 2 positives and you will be left with 5 negatives.  
      
            Example 4: 4 – (-6) = …              


-
-
-
-
-
-
-
-
-
-
-
-
+
+
+
+
+
+
+
+
+
+

                                          
                                         +                                                                                        take away                                             




+
+
+
+
+
+
+
+
+
+

           =       






             Rules:Two like signs (the same) becomes a positive sign:  + (+) and   - (-)  
          e.g.:   3 + (+2) becomes 3 + 2		
             6 – (-3) becomes 6 + 3


                         

 
Two unlike signs (not the same) becomes a negative sign:  + (-) and - (+)  
            7 + (-2) becomes 7 – 2	and	
            8 – (+2) becomes 8 - 2







    Calculate:
a. -5 + 6
__________________________________________________________________________________________________________________________________________________________________________________________________________________


b. 3 – 5
__________________________________________________________________________________________________________________________________________________________________________________________________________________
c. -4 – (-5)
__________________________________________________________________________________________________________________________________________________________________________________________________________________

3.6. Properties of integers:

Calculate the following:  
a. (−3) + (−5) =
________________________________________________________________
b. (−5) + (−3) =
________________________________________________________________
c. 5 + (−7) =
_________________________________________________________________
d. (−7) + 5 =
_________________________________________________________________
e. (−13) + 17 =
_________________________________________________________________
f. 17 + (−13) =
__________________________________________________________________
g. 15 + 19 =
__________________________________________________________________
h. 19 + 15 =
___________________________________________________________________
i. (−21) + (−15) 
___________________________________________________________________
j. (−15) + (−21) =
___________________________________________________________________

In Term 1 (which was about whole numbers) we said: Addition is commutative: the numbers can be swopped around. Or, in symbols: a + b = b + a, where a and b are whole numbers.
 (a) Would you say addition is also commutative when the numbers are integers?
 (b) Explain your answer. Use the examples above.

Calculate the following:  
a. 3 + (2 + 5) =
______________________________________________________________________
b. (3 + 2) + 5 =
______________________________________________________________________
c. -3 + (-1 + -2) =
______________________________________________________________________
d. (-3 + -1) + -2 =
______________________________________________________________________

When three or more whole numbers are added, the order in which you perform the calculations makes no difference. We say: Addition is associative.
(a) Would you say addition is also associative when the numbers are integers?
(b) Explain your answer. Use the examples above.

If we go back to the rules, we said:  
a. + (+) = +; this means +  + = +
b.  - (-) = +; this means - - = +
c.  - (+) = -; this means -  + = -
d.  + (-) = -; this means +  - = - 

Based on the information above:
Calculate:
a. 5  4 =
______________________________________________________________________
b. 4 5 =
______________________________________________________________________
c. -3-2
______________________________________________________________________
d. -2  -3
______________________________________________________________________
e. -6  2
______________________________________________________________________
f. 2  -6
______________________________________________________________________

In Term 1 (which was about whole numbers) we said: Multiplication is commutative: the numbers can be swopped around. Or, in symbols: a x b = b x a, where a and b are whole numbers.
(a) Would you say multiplication is also commutative when the numbers are integers?
(b) Explain your answer. Use the examples above.

Calculate:
a. 2  (3  4) =
________________________________________________________________
b. (2  3)  4 =
________________________________________________________________
c. -3  (-1 -2)
________________________________________________________________
d. (-3 -1)  -2 
________________________________________________________________

When three or more whole numbers are multiplied, the order in which you perform the calculations makes no difference. We say: Multiplication is associative.
(a) Would you say multiplication is also associative when the numbers are integers?
(b) Explain your answer. Use the examples above.
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